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x(\t) = ( Data — Model ACsF ) / o
x/(407086-5134)=0.986=>1.007
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bad:4603=1.1% A (R) z = 1.83611

4 = 0.015(20) x = 0.960(79) => 0.960(79)
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T T T

e L BN e B
Y T
= M il sl il 1 A
; : '":'rTH?'?l"':‘""‘f"""{"'f""]ﬂ"""r”"f""""'m?"
fabt oL Z o

RS R SN N e

SRR e g g ST

ditrndt ctm LTt P

TRy

Beopklog Ll i B Lo, aylas

2000

A (R) z = 1.83611

-1

-2

Continuum Lightcurve
med(mad)%
T T

Q
——.-X. -
Ac(21508) 1(23)% S/N 48 ¥

f) (10717 erg em™2s7'87")

8000
MJD — 2450000

BLR Lightcurve

40

R
20

10

N - il
7500 8000
MJD — 2450000

Phot Corrections
med(mad)%
T T

H Ap 100.00(1.09)% S/N —8.7
r Prior(Ap) 5.0 %

1.2

7500 8000

MJD — 2450000
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